REATM / ROZTMP

T\ E R

SUN HOIST

5 58 25 H 4 S T

R FOa @d (F8) ®D (h6)

TM6 - 6.0 12.0
T™M8 - 8.0 15.0
TM10 TMP10 10.0 19.0
™12 TMP12 12.0 21.0
TM13 TMP13 13.0 23.0
TM16 TMP16 16.0 28.0
TM20 TMP20 20.0 32.0
TM25 TMP25 25.0 40.0
TM30 TMP30 30.0 45.0
TM35 TM35 35.0 52.0
TM40 TMP40 40.0 60.0
TM50 TMP50 50.0 80.0
TM60 TMP60 60.0 90.0

- HIVERELRE hT
- NEFERAILLE HY

23 SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966




ROZTMP

T\ B AR 13

SUN HOIST

55 58 25 H 4 S I

BABFRE B‘BEXEE (@RAE) E B RIRER
(kgf) (kgf « K/3) (grf) CK/#)

80 4.1 4.4
130 6.9 8.3
6.8 200 10.4 16.2
8.0 250 12.9 19
9.0 290 14.9 24.60
11.0 410 2152 41.7
11.0 580 30.1 56
12.0 1000 52.8 122.80
15.0 1300 68.7 163.70
17.0 1700 87.7 221.00
20.0 50° 2200 115 341.60
25.0 50° 3500 179 832.70
30.0 50° 4600 236 1057

- @5t - ER AR A @RI RREE - BRUYLERM - IRBERYN » BHRRIMIEIR -
CHIWEESRE hT
- MRS AE HY

%]

NN NN IR INDINDININN

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




SUN HOIST

TMF 2!

BT\ B R 3 TS B ARSI

PXDY*Z

' ' CR/B) (kg (kgf* K/B)

TMF6 6 12 20 28 3.5x6x3.1 8 19 | 22 2 80 4.1 6 15
TMF8 SIS 24 32 3.5x6x3.1 8 | 24 | 25 2 130 6.9 8 20
TMF10 10 | 19 29 40 4.5x7.5x4.1 9 | 29| 30 2 200 10.4 10 32
TMF12 12 | 21 32 42 4.5x7.5x4 .1 9 | 30 | 32 2 250 1239 12 35
TMF13 13 | 23 33 43 4.5x7.5x4 .1 9 | 32| 34 2 290 14.9 13 38
TMF16 16 | 28 38 48 4.5x7.5x4.1 9 [ 37 | 37 2 410 212 16 56
TMF20 20 | 32 43 54 5.5x9x5.1 11 | 42 | 42 2 580 30.1 20 75
TMF25 25 | 40 51 62 5.5x9x5.1 11 | 59 | 50 2 1000 52.8 25 149
TMF30 30 | 45 60 74 6.6x11x6.1 14 | 64 | 58 2 1300 68.7 30 202
TMF35 SoN|E52 67 82 6.6x11x6.1 14 | 70 | 64 2 1700 87.7 35 296
TMF40 40 | 60 78 96 9x14x8.1 18 | 80 | 75 2 2200 115 40 450
TMF50 50 | 80 98 116 9x14x8.1 20 | 100 | 92 2 3500 179 50 1000

CENELESRE h7
- FEFEALS L AE HT

5 58 5 I 4 S I

SUN HOIST Co., Ltd

TEL : 886-4-2536-2411

FAX : 886-4-2536-1966



TMFW %!

SENEfRE#ASEARIVIIRE

SUN HOIST

=]
i
b
B
R
L]
B

DXDY*Z

Df
T
@dr
@D

?R"* mA BEGRE /_\,EEIE = B
®PCD ®Df XxYxZ FE BaE (EXE ('T'ﬂ)' s
CR/B)  (kgf)  (kgf* /) g

e ®dr @D
BE  (rs) (o)

TMFW10 | 10 | 19 29 40 4.5x7.5x4.1 10 | 65 | 30 2 380 18.7 10 62
TMFW12 | 12 | 21 32 42 4.5x7.5x4.1 13 | 57 | 32 2 475 232 12 67
TMFW16 | 16 | 28 38 48 4.5x7.5x4.1 13| 70 | 37 2 780 38.1 16 106
TMFW20 | 20 | 32 43 54 5.5x9x5.1 15 | 80 | 42 2 1100 54.2 20 143
TMFW25 | 25 | 40 51 62 5.5x9x5.1 15 1112 | 50 2 1900 95 25 283
TMFW30 | 30 | 45 60 74 6.6x11x6.1 20 [ 123 | 58 2 2470 28 30 388
TMFW35 | 35 | 52 67 82 6.6x11x6.1 20 | 135 | 64 2 3230 157.9 35 570
TMFW40 | 40 | 60 78 96 9x14x8.1 22 | 151 | 75 2 4180 207 40 849

- BINE S = h7
- IEFRECSLAE HT

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




) 58 5 mh 4 B I

SUN HOIST

ddr

@D

TMFR #!

TV B R B 2L AR T

GXDY*Z

RIR mAK  BEXEE EoHE B B

TMFR6 6 12 20 28 3.5x6x3.1 8 19 2 80 41 6 12
TMFR8 SINS 24 32 3.5x6x3.1 8 | 24 2 130 6.9 8 14
TMFR10 10 | 19 29 40 4.5x7.5x4.1 9 | 29 2 200 10.4 10 36
TMFR12 I || 2 32 42 4.5x7.5x4.1 9 | 30 2 250 12.9 1 38
TMFR16 16 | 28 38 48 4 .5x7.5x4.1 9 37 2 410 22 16 60
TMFR20 | 20 | 32 43 54 5.5x9x5.1 11 | 42 2 580 30.1 20 80
TMFR25 25 | 40 51 62 5.5x9x5.1 11 | 69 2 1000 52.8 25 160
TMFR30 30 | 45 60 74 6.6x11x6.1 14 | 64 2 1300 68.7 30 212

CEIVREDLE h7
- BRFEREILAE HY

SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411 FAX : 886-4-2536-1966



TMFRW #!

SR\ BRI E R ARV IIRE

SUN HOIST

=]
b
b2y
B
i
3
*
OX*AY*Z
i L -+
| — Y
s R A
s B g 8
1l O - )
] 1 = A
|| — ]
o T —

B 2 E“;g; (q;(';:’) ®PCD ®Df Eg Egg;aﬁ E(g;{%ﬁ aﬁs?ﬁ i}gﬁ%
CR/#) (kgf)  (kgf « K/#)

TMFRW12 | 12 | 21 | 32 |42 | 45x75x41 | 13|57 | 2 475 232 12 48

TMFRW16 | 16 | 28 | 38 | 48 | 45x7.5x41 | 13|70 | 2 780 38.1 16 89

TMFRW20 | 20 | 32 | 43 | 54 | 55x0x51 | 15|80 | 2 1100 54.2 20 134

TMFRW25 | 25 | 40 | 51 | 62 | 55x9x51 | 15 |112| 2 1900 95 25 277

TMFRW30 | 30 | 45 | 60 | 74 | 66x11x6.1 | 20 |123| 2 2470 | 1237 30 384

- EILWESSE h7
- BRFERESILLE HT

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




SUN HOIST

ETVE

UK E R

TCM ZU

4-S1

_h0.02

4-@Sz2

@dr

| |
| |
I |
i i
—Hit
| !

EFER Y (mm)
G
TCM6 6 30 18 25 9 15 15 5 6 20 15 M4x8t | 3.4 80 48
TCM8 8 34 22 30 il 17¢ 18 = 6 24 18 M4x8t | 3.4 130 84
TCM10 10 40 26 35 13 20 21 6 8 28 21 | M5x10f| 4.3 200 90
TCM12 12 42 28 36 15 21 24 | 5.75 8 305 | 26 | Mb5x10t | 4.3 250 110
TCM13 13 44 30 39 15 22 | 245 | 55 10 33 26 | M5x10f | 4.3 290 180
TCM16 16 50 | 385 | 44 19 25 | 325 i il 36 34 | M5x10f| 4.3 410 230
TCM20 20 54 41 50 21 27 35 7 12 40 40 | Méx12f| 5.2 580 570
TCM25 25 76 | 51.5 | 67 26 38 42 11 15 54 50 | M8x18f| 6.8 1000 640
TCM30 30 78 | 595 | 72 30 39 49 10 18 58 58 | M8x18L| 6.8 1300 | 1000
TCM35 35 90 68 80 34 45 54 10 20 70 60 | M8x18f| 6.8 1700 | 1420
TCM40 40 102 78 90 40 51 62 14 23 80 60 [M10x25¢| 85 | 2200 | 3100
TCM50 50 122 | 102 | 110 52 61 80 11 30 100 80 [M10x25¢| 8.5 3500 | 3520

5 58 5 I 4 S I

-EIWERELE hT

SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411

FAX : 886-4-2536-1966




TCMW #!

-

SETVERE BRI RE

SUN HOIST

=
B
R
B
]
#
w L =
4-S+1
! C Pl
! !
| |
gl * | |
(=] £ L
. f&'_ © s | F!J____@ _____ '!J]L_ )
ST Hi
r 11 1 |
3 |

4-9S:
_ | E$0.02

FER Y (mm) X iR Y (mm)

53

TCMBW 6 9 15 30 48 18 15 20 36 5 M4x8t | 3.4 160 48

6

TCM8W 8 11 i 34 58 22 18 6 24 42 5 M4x8¢ | 3.4 260 84
8
8

TCM10W 10 13 20 40 68 26 21 28 46 6 | M5x10¢ | 4.3 400 90

TCM12W 12 15 21 42 70 28 24 305 | 50 | 575 | M5x10¢ | 4.3 500 110
TCM13W 13 15 22 44 75 30 | 245 | 10 33 50 55 | M5x10¢ | 4.3 580 180

TCM16W 16 19 25 50 85 | 385 |325| 11 36 60 7 | M5x10f | 4.3 820 230

TCM20W 20 21 27 54 96 41 35 12 40 70 7 |M6x12¢| 52 | 1160 | 570

TCM25W 25 26 38 76 | 130 | 515 | 42 15 54 | 100 | 11 |M8x18¢| 6.8 | 2000 | 640

TCM30W 30 30 39 78 | 140 | 59.5 | 49 18 58 | 110 | 10 |M8x18t| 6.8 | 2600 | 1000
TCM35W 35 34 45 90 | 155 | 68 54 20 70 | 120 | 10 |M8x18t| 6.8 | 3400 | 1420

TCM40W 40 40 51 102 | 1756 | 78 62 23 80 | 140 | 11 |M10x25¢| 8.5 | 4400 | 3100

TCM50W 50 52 61 | 122 | 215 | 102 | 80 30 | 100 | 160 | 11 |M10x25¢| 85 | 7000 | 3520

CHINWRESLRE hT

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




	崧禾-內頁023-150320
	崧禾-內頁024-150326
	崧禾-內頁025-141205
	崧禾-內頁026-141205
	崧禾-內頁027-141205
	崧禾-內頁028-141205
	崧禾-內頁029-141205
	崧禾-內頁030-141205

